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Trapezoid Rule:  Uses trapezoids to estimate area rather                    
than rectangles.
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Ex:  Use the trapezoidal rule with n=5 to find an 
approximation of the area bounded by f(x) =1/x, the 
x-axis, x=1 and x=2.
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Ex: Use the trapezoidal  rule with n=10 to find an 
approximation of the area of:
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find an approximation of the area of:
STAT/Edit
L1 = Sequence
L2 = x1 + (L1 × ∆x)
L3 = f(L2)
L4 = Coefficients
L5 = L3 × L4

(∆x/2)Sum (L5)
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Simpson’s Approximation
Approximation of a curve by using a parabola fitted to three 
points



Area Under a Parabola:
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Substitution into the area expression gives
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Simpson’s Approximation
Simpson’s Approximation/Rule:  Divide [a,b] into an even 
number of intervals and apply the parabola area formula to 
successive pairs of intervals.

Summing the area under each parabola above gives
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Ex: Use Simpson’s Rule with n=10 to approximate: 2
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L1 L2 L3 L4 L5STAT/Edit
L1 = Sequence
L2 = x1 + L1(∆x)
L3 = f(L2)
L4 = Coefficients
L5 = L3(L4)

(∆x/3)Sum (L5)
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